A
T

M4 FEHMABIFEERRRE

PIRIE: ey o)

& B dtAME (ERREL)
8 B RBELEEXE

=1 B EERELTHEER
Bo#MS REHRAE
REES 18-11-22-001



BERRE

T4 FEEFMRFEERRBE

% R K - BKTE B = i ® &8 wm =
EEIEE 50, 171, 361
FFERERRAT 50, 171, 361
EEIEE 50, 171, 361
AEEE 588, 724
AEEE 588, 724
1 REERE 1.00 290, 678 290, 678
=
2 HeMERR QRS Y) 1.00 298, 046 298, 046
=
BRRERE 8,917, 440
RRRE 4,130,916
3 MIEFHEERN MR 1.00 142,107 142,107
=
4 FRETERE 10. 00 66, 610 666, 100
#ha
5 RIEFHEE 10. 00 66, 610 666, 100
#ha
6 AT AREEN 1.00 497, 000 497, 000
=
1 RRRAE RN 24.00 61,043 1,465, 032
B
8 MRRAEHREEEM 1.00 694, 577 694,577
=
Rz BlE OKEEL) 1,221,950
9 BETRH 1.00 217,431 217,431
=
10 B&BIFE 20.00 10, 766 215, 320
km




BERRE

T4 FEEFMRFEERRBE

% i R - RKT & BifL 2 i ® # m E
M BRPEREE 1.00 10, 130 10, 130
H
12 sz A EMESER 1.00 779, 063 779, 063
=
KE - EERE 3,564, 574
13 £k - #ik - siRE GA. 11A) 2.00 637, 765 1,275,530
E
14 £k - #il - SiHRE B8R, 1A) 2.00 850, 363 1,700, 706
E
15 FHRLENK 1.00 73,764 73,764
=
16 KE - EEHRESER 1.00 514,574 514,574
=
BELEYRE 4,570, 881
fTEEMRAE 1,036, 960
17 &£ AT R 16.00 64,810 1,036, 960
b:uhd
BNERE 622, 608
18 BN L BKIRAES MR 12.00 51,884 622, 608
b:uhd
HhI+A=@RE 707, 238
19 77 b AZERKRAE 1.00 707, 238 707, 238
=
AT A HBERKRRE 1,062, 169
20 RF A1) HBEKRRE 1.00 1,062, 169 1,062, 169
=
RERERORN - BE 1,141,906
21 g)ﬁﬁ%d)ﬁ@ﬁ - ER (BELEYHA 1.00 1,141,906 1,141, 906
=




BERNRE SHMAFEHMAA M EERAE
£ i1 R - BikTiE BT £ fii * %
FREMRE 9, 403, 764
FREMRE 2,718,192
22 FTiRKE-EE &£ 4.00 411,109 1,644, 436
Bl
23 WD bV AZHELERDTRAE 2.00 211,027 422,054
Bl
24 HJ FH_EINERERE 2.00 325, 851 651, 702
Bl
FHEERAE MEL—VAERUVZERE 3,095, 828
Bige
25 £{KEHE Hh & 1R L L1000 4.59 813 3, 7131
km2
26 FHBIETE HBEHR L ~JL1000 4.59 677 3,107
km2
27 #Ef B E$R L~ L1000 10. 80 135, 569 1,464,145
|
28 EtHil Hh & 1R L L1000 2.07 176, 789 365, 953
|
29 #8 Hh & 1R L L1000 5.00 137,313 686, 565
=]
30 AEAELESDEE HhEIE$R L L1000 4.00 47,754 191,016
&L
N ZRFEHAT—E2RUF Y DHILT  HEIHEHRL )IL1000 4.59 17,232 79, 094
— 5 ERk
km2
2 9500 FT—42EmR HhEIE$R L L1000 4.59 43,933 201, 652
km2
BTy R Ba) TR Hh R 1H#R L X)L 1000 4.59 4, 404 20, 214
km2
3 EEWRT SR HBEAEHR L < L1000 4.59 4,490 20, 609
km2
35 HEHMBET—42 7 7 1 ILIER HEEER L X)L 1000 4.59 1,839 8, 441
km2
36 EXHRERIERE 1.00 50, 000 50, 000




BERRE

T4 FEEFMRFEERRBE

% i R - RKT & Bifr 2 i i) wm =

3 REXBE 1.00 1, 301 1,301
=

REHE 1,022, 892

38 BT 4.00 255,723 1,022, 892
E

BRI - BE 1,667,712

39 SERBROMEN - B (FREYHA 1.00 1,667,712 1,667,712
&) .
=

REERERRYELD 882, 740

40 FIBEESBREBRYEED 1.00 882, 740 882, 740
=

AFFARRROER 16, 400

4N AERARERDER 1.00 16, 400 16, 400
=

EEEE 26, 690, 552

TEXE 513,324

2 ZEERMm 1.00 513,324 513,324
=

[p2 S 200, 000

B EXBHREME (FMAEE  HAEH 1.00 100, 000 100, 000
ERRAE) .
=

M EZBRREME (FMIEESHBRIY 1.00 100, 000 100, 000
FED) .
=

SHTHERE 25,977,228

4 HRRE 1.00 25,977,228 25,977, 228
=




SHAFEHMRFERRAR

% g R - KSR Bifr 2 il & B 18
EENEE 43,788, 420
HRE 17,811,192 x 62.2% — 6,981 11,071, 580
AEEEE 43,788,420 + 11,071,580 54, 860, 000
BRI 6,047,300 + 335, 641 6,382, 941
EEAGE 6, 047, 300
BE#ERE 335, 641
T DR 6,047,300 x 53.85% ( 35% + (1 — 35%) ) 3,256, 471
BRI 6,382,941 + 3,256,471 9,639,412
—REERF 9,639,412 x 53.85% (35% + (1 — 35%) ) — 235 5,190, 588
AEHEE 9,639,412 + 5,190, 588 14, 830, 000
AIERH@mE 54,860,000 + 14,830, 000 69, 690, 000
HETR SR L 69, 690,000 x 10.00% 6, 969, 000
BEXHE 69, 690,000 + 6, 969, 000 76, 659, 000




Rifiz -/ \v7r—o

THAEEHFMEHFEERRE

&5 1
& RAEERE 1LY
2 b g - BIRTE By = BHO(f %8 W = " =
BIEFEHEM
A 3.00 45, 700. 00 137,100
RIS HRER
A 3.00 40, 000. 00 120, 000
Bl S H A
A 1.00 30, 700. 00 30, 700
MR 2E0%
% 1.00 287, 800. 00 2,878
& B 1YE%HeH - 1.00K 290, 678. 00 290, 678
&5 .2
£ BEAERR 2FEESY) 1LY
2 b g - BIRTE By = BHO(f %8 W E " =
BIEHEE
A 8.00 24, 200. 00 193, 600
FSvo 2t
B 4.00 25,374.00 101,496 4. 70H / 8H
MR ELNOY
% 1.00 295, 096. 00 2,950
& B 1E%HeH - 1.00K 298, 046. 00 298, 046
53
£ REREHEE AR 1LY
2 b g - BIRTE By = BHoO(f %8 W = " =
RIS HRER
A 2.00 40, 000. 00 80, 000
Bl S H A
A 2.00 30, 700. 00 61, 400
MR 2E0%
% 0.50 141, 400. 00 707
& B 1E%HeH - 1.00K 142,107.00 142,107




Rifiz -/ \v7r—o

THAEEHFMEHFEERRE

Hz5 .4
B FREEERE 18HY (5 8ithsE)
£ b L - BIRTiE BT = B ® W = " =

REE S4 kY 2L

B 1.00 3,145.00 3,145/2.00H / 8H
AR FRP D 70PSZE!

B 1.00 75, 375.00 75,375 8H
RIS HRER

A 1.00 40, 000. 00 40, 000
B

A 1.00 30, 700. 00 30, 700
BEENF

A 1.00 29, 600. 00 29,600
BIEWENE

A 2.00 24, 200. 00 48, 400
BKE(FA1\—) 10mk 5%

A 1.00 49, 500. 00 49, 500
BKLTHENE (A /1\—) 10mK 78

A 1.00 49, 500. 00 49, 500
rEYE

A 1.00 25,000. 00 25,000
MM 2RD%

% 10. 00 351, 220. 00 35,122
& B 1YE%HEH : 5. 80K 66, 610. 00 386, 342




Rifiz -/ \v7r—o

THAEEHFMEHFEERRE

H#5:5
¥ REREHEE 1B%Y (5. 8ihe)
£ b g - BIRTE BT = B O ® W = " =
REE S4 kY 2L
B 1.00 3,145.00 3,145/2.00H / 8H
AR FRP D 70PSZE!
B 1.00 75, 375.00 75,375 8H
RIS HRER
A 1.00 40, 000. 00 40, 000
Bl S H A
A 1.00 30, 700. 00 30, 700
BEENF
A 1.00 29, 600. 00 29,600
BIEWENE
A 2.00 24, 200. 00 48, 400
BKE(FA1\—) 10mk 5%
A 1.00 49, 500. 00 49, 500
HBKLTHBEE (A4 /\—) 10mK 78
A 1.00 49, 500. 00 49, 500
rEYE
A 1.00 25,000. 00 25,000
MM 2RD%
% 10. 00 351, 220. 00 35,122
& B 1YE%HEH : 5. 80K 66, 610. 00 386, 342
ES .6
£% . RRRAESRRREEN 1LY
£ b g - BIRTE BT = B Ol ® W E " =
BAzREEH
= 1.00 497, 000. 00 497, 000
& Hi 1E%HeH - 1.00K 497, 000. 00 497, 000




Rifiz -/ \v7r—o

THAEEHFMEHFEERRE

&5:7
£ RIREAE SRR HEER
2 b g - BIRTE By = BHO(f ) # " =
HEm (B)
A 0.60 40, 600. 00 24, 360
AR (C)
A 0. 40 32, 800. 00 13,120
g
A 0. 40 29, 000. 00 11, 600
B 1.00 10, 000. 00 10, 000
EXERARE EEAEEDY
% 4.00 49, 080. 00 1,963
& Hi 1E%HED - 1.00/B 61,043.00 61,043
&5 :8
£ RRARAEREEER 14y
2 b g - BIRTE By = BHO(f ) # " =
F{EHRAR (F%ET)
A 0.30 57, 400. 00 17, 220
HEm (B)
A 10. 30 40, 600. 00 418,180
g
A 8.70 29, 000. 00 252, 300
EXERARE 2E0%
% 1.00 687, 700. 00 6,877
& B 1E%HeH - 1.00K 694, 577. 00 694, 5717




Rifiz -/ \v7r—o

THAEEHFMEHFEERRE

59
B BETR 1XEY
2 b g - BIRTE By = B ) W = " =
REE S4 kY 2L
B 1.00 3,145.00 3,145/2.00H / 8H
RIS HRER
A 1.00 40, 000. 00 40, 000
Bl S H A
A 1.00 30, 700. 00 30, 700
BEENF
A 1.00 29, 600. 00 29,600
BIEf FRP D 70PSZE!
B 1.00 75, 375.00 75,375 8H
GNSS:AIfI £ & DGNSS
B 1.00 18, 150. 00 18, 150
BERIREE 241 90~230kHz
B 1.00 18, 315. 00 18, 315
MR 2E0%
% 1.00 215, 285. 00 2,152
& B 1E%HeH - 1.00K 217,437.00 217,431
=:10
&% BERAZR 1B3EY (23.2km)
2 b g - BIRTE By = B ) W E " =
REE S4 kY 2L
B 1.00 3,145.00 3,145/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 75, 375.00 75, 375 8H
RIS HRER
A 1.00 40, 000. 00 40, 000
Bl S H A
A 1.00 30, 700. 00 30, 700
BEENF
A 2.00 29, 600. 00 59, 200
GNSS:AIfI £ & DGNSS
B 1.00 18, 150. 00 18, 150
BERIREE 241 90~230kHz
B 1.00 18, 315. 00 18, 315
MR 2E0%
% 2.00 244, 885. 00 4,897
& B YEZRESN : 23.20km 10, 766. 00 249,782




Rifiz -/ \v7r—o

THAEEHFMEHFEERRE

&5 11
£F R E R R 1084y
2 b g - BIRTE By = il %8 W = " =
RIS HRER
A 1.00 40, 000. 00 40, 000
Bl S H A
A 1.00 30, 700. 00 30, 700
BEBF
A 1.00 29, 600. 00 29,600
MR 2E0%
% 1.00 100, 300. 00 1,003
& B 1YE%HEH 0 10.008 10, 130. 00 101, 303
&= 12
£ MR RERESIER 1LY
2 b g - BIRTE By = il %8 W E " =
BIEFEHEM
A 2.30 45, 700. 00 105, 110
RIS HRER
A 8.00 40, 000. 00 320, 000
Bl S H A
A 8.00 30, 700. 00 245, 600
BEBF
A 3.40 29, 600. 00 100, 640
MR 2E0%
% 1.00 771, 350. 00 7,13
& B 1E%HeH - 1.00K 779, 063. 00 779, 063




Rifiz -/ \v7r—o

THAEEHFMEHFEERRE

&5 .13
%5 K - ]RiE - BBEER GA. 11A) HEED)
2 b g - BIRTE BT o = B O ® W = " =
REE S4 kY 2L
B 3.00 3,145.00 9,435/2.00H / 8H
SREM FRP D 70PS#E! 3.0t
B 3.00 75, 375.00 226,125 8H
RIS HRER
A 3.00 40, 000. 00 120, 000
Bl S H A
A 3.00 30, 700. 00 92,100
BEBF
A 6. 00 29, 600. 00 177, 600
MR 2E0%
% 2.00 625, 260. 00 12,505
& B 1YEZHEH - 1.00[E 637, 765. 00 637, 765
&S 14
%5 K - ]RiE - SRR 8A. 1) HEED)
2 b g - BIRTE BT H = B O ® W = " =
REE S4 kY 2L
B 4.00 3,145.00 12,580 2. 00H / 8H
SREM FRP D 70PS#E! 3.0t
B 4.00 75, 375.00 301, 500 8H
RIS HRER
A 4.00 40, 000. 00 160, 000
Bl S H A
A 4.00 30, 700. 00 122, 800
BEBF
A 8.00 29, 600. 00 236, 800
MR 2E0%
% 2.00 833, 680. 00 16, 673
& B 1YEZHER - 1.00[E 850, 353. 00 850, 353




Rifiz -/ \v7r—o

THAEEHFMEHFEERRE

&5 .15
&5 . ELERR 1LY
2 b g - BIRTE BT H = it %8 W = " =
Bl S H A
A 2.00 30, 700. 00 61, 400
REE S4 kY 2L
B 2.00 6,182. 00 12,364 6.00H / 8H
& B 1YE%HeH - 1.00K 73, 764.00 13, 764
&S .16
2F: KE - BREREEER 1LY
2 b g - BIRTE BT H = it %8 W E " =
F{EHRAR (F%ET)
A 2.50 57, 400. 00 143, 500
e (B)
A 3.80 40, 600. 00 154, 280
g
A 7.30 29, 000. 00 211,700
EXERARE ELNOY
% 1.00 509, 480. 00 5,094
& Hi 1E%HeH - 1.00K 514,574. 00 514,574




Rifiz -/ \v7r—o

THAEEHFMEHFEERRE

&5 11
¥ HEEYRAERBRR 1TAHY (4. 3thm)
2 b g - BIRTE By = BHO(f ) W = " =
REE S4 kY 2L
B 1.00 3,145.00 3,145/2.00H / 8H
SREM FRP D 70PS#E! 3.0t
B 1.00 75, 375.00 75,375 8H
RIS HRER
A 1.00 40, 000. 00 40, 000
Bl S H A
A 1.00 30, 700. 00 30, 700
BKE(F A1) 10mk 578
A 1.00 49, 500. 00 49, 500
HBKLTHBEE (A4 /\—) 10mk 5%
A 1.00 49, 500. 00 49, 500
rmyg
A 1.00 25,000. 00 25,000
MR 2E0%
% 2.00 2173, 220. 00 5, 464
& B 1E%RED : 4. 3005 64, 810. 00 2178, 684
&5 :18
£ AN EEBIKRAE PR 1TAHY (4. 84hm)
2 b g - BIRTE By = BHoO(f ) W E " =
REE S4 kY 2L
B 1.00 3,145.00 3,145/2.00H / 8H
SREM #fD 150PSE! 15.0t
B 1.00 111,116.00 111,116 8H
RIS HRER
A 1.00 40, 000. 00 40, 000
Bl S H A
A 1.00 30, 700. 00 30, 700
BEBF
A 2.00 29, 600. 00 59, 200
MR 2E0%
% 2.00 244,161. 00 4,883
& B 1EXHESN : 4. 80K 51, 884. 00 249, 044




Rifiz -/ \v7r—o

THAEEHFMEHFEERRE

&5 19
&% H T MHZEBRKRRAE 1LY
2 b g - BIRTE BT H = B O %8 W = " =
REE S4 kY 2L
B 3.00 3,145.00 9,435/2.00H / 8H
SREM FRP D 70PS#E! 3.0t
B 3.00 75, 375.00 226,125 8H
BIEFEHEM
A 3.00 45, 700. 00 137,100
RIS HRER
A 3.00 40, 000. 00 120, 000
Bl S H A
A 3.00 30, 700. 00 92,100
BEBF
A 3.00 29, 600. 00 88, 800
MR 2E0%
% 5.00 673, 560. 00 33,678
& B 1E%HeH - 1.00K 707, 238. 00 707, 238
E5:2
B AT A HBIKREE 1K%Y
2 b g - BIRTE BT H = B O %8 W = " =
REE S4 kY 2L
B 1.00 3,145.00 3,145/2.00H / 8H
BIEFEHEM
A 1.00 45, 700. 00 45, 700
RIS HRER
A 1.00 40, 000. 00 40, 000
Bl S H A
A 2.00 30, 700. 00 61, 400
BEBF
A 2.00 29, 600. 00 59, 200
BHEt
A 3.00 53, 400. 00 160, 200
BiEt
A 3.00 40, 700. 00 122,100
HmRE HHHERCEEDY
% 80. 00 491, 745. 00 393, 396
MR HHEEZEO2ARDY
% 20.00 885, 141. 00 177,028
& B 1E%HeH - 1.00K 1,062, 169. 00 1,062, 169

10




Rifiz -/ \v7r—o

THAEEHFMEHFEERRE

&5 21
£ AEHROEN - 2R (BEEWHRE) 1LY
2 b g - BIRTE By = BHO(f %8 W = " =
FEHRAR (F%ET)
A 1.00 57, 400. 00 57, 400
AR (A)
A 3.00 51, 200. 00 153, 600
e (B)
A 6. 00 40, 600. 00 243, 600
AR (C)
A 10. 00 32, 800. 00 328, 000
g
A 12.00 29, 000. 00 348, 000
EXERARE 2E0%
% 1.00 1, 130, 600. 00 11, 306
& Hi 1E%HeH - 1.00K 1, 141, 906. 00 1,141, 906
&5 .22
&% TRKE - EE - &% HEED)
2 b g - BIRTE By = BHO(f %8 W = " =
REE S4 kY 2L
B 3.00 3,145.00 9,435/2.00H / 8H
RIS HRER
A 3.00 40, 000. 00 120, 000
Bl S H A
A 3.00 30, 700. 00 92,100
BEBF
A 6. 00 29, 600. 00 177, 600
MR 2E0%
% 3.00 399, 135. 00 11,974
& B 1YEZHER - 1.00[E 411, 109. 00 411,109

"




Rifiz -/ \v7r—o

THAEEHFMEHFEERRE

&5 .23
B H D P HHEERSTRRE HEED)
2 b g - BIRTE BT H = B O %8 W = " =
REE S4 kY 2L
B 2.00 3,145.00 6,290/2.00H / 8H
RIS HRER
A 2.00 40, 000. 00 80, 000
Bl S H A
A 2.00 30, 700. 00 61, 400
BEBF
A 2.00 29, 600. 00 59,200
MR 2E0%
% 2.00 206, 890. 00 4,137
& B 1YEZHEH - 1.00[E 211,027. 00 211,027
BS54
& h D FHENRERE HEED)
2 b g - BIRTE BT H = B O %8 W E " =
REE S4 kY 2L
B 3.00 3,145.00 9,435/2.00H / 8H
RIS HRER
A 3.00 40, 000. 00 120, 000
Bl S H A
A 3.00 30, 700. 00 92,100
BEBF
A 3.00 29, 600. 00 88, 800
MR 2E0%
% 5.00 310, 335. 00 15,516
& B 1YEZHER - 1.00[E 325, 851. 00 325, 851

12




Rifiz -/ \v7r—o

THAEEHFMEHFEERRE

&5 :25
&% 2KETE HEIEHR L ~JL1000 100km24 Y
2 b g - BIRTE By = il %8 W = " =
BIEFEHEM
A 0.50 45, 700. 00 22,850
RIS HRER
A 1.00 40, 000. 00 40, 000
Bl S H A
A 0.50 30, 700. 00 15, 350
HmRE EEAEEDY
% 1.00 78, 200. 00 782
HAETHEE EEAME+HHEEREZEDY
% 3.00 78,982.00 2,369
& Hi {EZ8EEH - 100. 00km2 813.00 81,351
&5 :26
A% FHRIETE HE1EER L )L 1000 100km24 Y
2 b g - BIRTE By = il %8 W E " =
RIS HRER
A 0.30 40, 000. 00 12,000
Bl S H A
A 0.30 30, 700. 00 9,210
BHEt
A 0.30 53, 400. 00 16, 020
BiEt
A 0.30 40, 700. 00 12,210
wE
A 0.30 37, 300. 00 11,190
HEmRE EEAEEDY
% 8.50 60, 630. 00 5,153
HAETHEE EEAME+HHEEREZEDY
% 3.00 65, 783. 00 1,973
& Hi 1EZEEH - 100. 00km2 677. 00 67,756

13




Rifiz -/ \v7r—o

SMAFEHM R ERRBE

&5 .27
£F5 : BERT  HEIER L L1000 G ER
2 b g - BIRTE By = B 4 ) W = " =
A ZE B
=i 1.00 112, 640. 00 112, 640
mEHVY >
L 60. 00 260. 00 15, 600
fzEA AL
L 2.50 1, 580. 00 3,950
HAETHEE EEAME+HHEEREZEDY
% 3.00 112, 640. 00 3,379
& Hi YEZERED ¢ 1. 00RER 135, 569. 00 135, 569
&5 .28
& 5HE HEEER L X JL1000 G ER
2 b g - BIRTE By = B 4 ) W E " =
MEL—TAESRT LA g A
=i 1.00 169, 310. 00 169, 310
BEFEESRINEXT—4
B il 1.00 2, 400. 00 2,400
HEEETHEE HEMZEE DY
% 3.00 169, 310. 00 5,079
& Hi 1YEZHED - 1. 008 176, 789. 00 176, 789
5:29
& HhEEER L X JL1000 1BEY
2 b g - BIRTE By = B 4 ) W = " =
BHEt
A 1.00 53, 400. 00 53, 400
BiEt
A 1.00 40, 700. 00 40, 700
wmEt
A 1.00 37, 300. 00 37, 300
BIEERESE EEAEEDY
% 1.50 131, 400. 00 1,971
HEEETHEE EEAEEDY
% 3.00 131, 400. 00 3,942
& B 1E%HEH - 1.008 137, 313.00 137,313

14




KT -FEIT/ SNV —2 SHAEEHFMEHEERRFE
&5 :30
£ AEARESORE  HRFHRL L1000 ERED)
2 b g - BIRTE By = B O %8 W = " =
B S B Eh#H
A 5.00 30, 700. 00 153, 500
BIEBF
A 7.50 29, 600. 00 222,000
HmRE EEAEEDY
% 22.50 375, 500. 00 84, 487
Mg EEAEEDY
% 1.00 375, 500. 00 3,755
HAETHEE EEAME+HHEEREZEDY
% 3.00 459, 987. 00 13,799
& Hi 1YEZHES - 10. 00 FR 47, 754. 00 477, 541
&5 : 31
W ZRFTEAT =2 RUA) OFILT—FER HE1EER L )L 1000 100km224 1
2 b g - BIRTE By = B O %8 W E " =
RIS HRER
A 15. 00 40, 000. 00 600, 000
B S B Eh#H
A 30.00 30, 700. 00 921, 000
HEmRE EEAEEDY
% 10. 00 1,521, 000. 00 152,100
HEEETHEE EEAME+HHEEREZEDY
% 3.00 1,673, 100. 00 50, 193
& Hi YEZEREH ;- 100. 00km2 17,232.00 1,723, 293
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Rifiz -/ \v7r—o

SMAFEHM R ERRBE

&5 :32
ISV ET—2ER HE1EER L )L 1000 100km24 Y
2 b g - BIRTE By = BHO(f %8 # " =
RIS HRER
A 20.00 40, 000. 00 800, 000
Bl S H A
A 60. 00 30, 700. 00 1,842,000
BEBF
A 40. 00 29, 600. 00 1,184, 000
HmRE EEAEEDY
% 11.00 3, 826, 000. 00 420, 860
Mg EEAEEDY
% 0.50 3, 826, 000. 00 19,130
HAETHEE EEAME+HHEEREZEDY
% 3.00 4,246, 860. 00 127, 405
& Hi YEZEREH ;- 100. 00km2 43, 933. 00 4,393, 395
&5 :33
B VYR (BB T—2ER HE1EER L )L 1000 100km24 Y
2 b g - BIRTE By = BHO(f %8 # " =
RIS HRER
A 2.00 40, 000. 00 80, 000
Bl S H A
A 10. 00 30, 700. 00 307, 000
HEmRE EEAEEDY
% 10. 50 387, 000. 00 40, 635
HAETHEE EEAME+HHEEREZEDY
% 3.00 427, 635. 00 12, 829
& Hi 1EZEEH - 100. 00km2 4, 404. 00 440, 464
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Rifiz -/ \v7r—o

SMAFEHM R ERRBE

&5 :34
B EERT— AR HBEIERL /L1000 100km24 Y
2 b g - BIRTE By = BHO(f %8 W = " =
RIS HRER
A 3.00 40, 000. 00 120, 000
Bl S H A
A 9.00 30, 700. 00 276, 300
HmRE EEAEEDY
% 10. 00 396, 300. 00 39, 630
HAETHEE EEAME+HHEEREZEDY
% 3.00 435, 930. 00 13,077
& Hi {EZ8EEH - 100. 00km2 4, 490. 00 449, 007
&5 :35
B BEMBRT—4 7 7 4 ILIERK HE1EER L )L 1000 100km24 Y
2 b g - BIRTE By = BHO(f %8 W E " =
BIEFEHEM
A 0.50 45, 700. 00 22,850
RIS HRER
A 1.50 40, 000. 00 60, 000
Bl S H A
A 2.50 30, 700. 00 76, 750
HEmRE EEAEEDY
% 9.50 159, 600. 00 15, 162
Mg EEAEEDY
% 2.50 159, 600. 00 3,990
HAETHEE EEAME+HHEEREZEDY
% 3.00 174, 762.00 5,242
& Hi 1EZEEH - 100. 00km2 1,839. 00 183, 994
&5 : 36
2 EBERRBERE 1LY
2 b g - BIRTE By = BHoO(f %8 W = " =
EBEBRERERE
= 1.00 50, 000. 00 50, 000
& Hi 1E%HeH - 1.00K 50, 000. 00 50, 000
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Rifiz -/ \v7r—o

THAEEHFMEHFEERRE

&5 .37
2% REXEE 1XEY
2 b g - BIRTE By = B ] W = " =
REXEE
= 1.00 1,301.00 1, 301
& Hi 1YE%HeRH 1,00 1,301.00 1, 301
= : 38
&% BERE HEED)
2 b g - BIRTE By = B ) W E " =
REE 5S4 kY 2L
B 2.00 3,145.00 6,290/2.00H / 8H
@R FRP D 70PSZ%! 3.0t
B 1.00 73, 419.00 73, 419 8H
RIS HRER
A 2.00 40, 000. 00 80, 000
Bl S H A
A 2.00 30, 700. 00 61, 400
BEENF
A 1.00 29, 600. 00 29, 600
MR ELNOY
% 2.00 250, 709. 00 5 014
& B 1YEZHER - 1.00[E 255, 723. 00 255, 723
&5 :39
£ AEHROEN - 2R (FREYHAE) 1XEY
2 b g - BIRTE By = B ) W = " =
FEHRAR (F%ET)
A 4.00 57, 400. 00 229, 600
AR (A)
A 8.00 51, 200. 00 409, 600
e (B)
A 12.00 40, 600. 00 487, 200
AR (C)
A 16. 00 32, 800. 00 524, 800
EXERARE ELNOY
% 1.00 1,651, 200. 00 16,512
& Hi 1E%HeH - 1.00K 1,667, 712.00 1,667,712
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Rifiz -/ \v7r—o

THAEEHFMEHFEERRE

&S 40
£ SIBEEMMERERYELD 1LY
2 b g - BIRTE BT o = B O ® W = " =
FEHRAR (F%ET)
A 2.00 57, 400. 00 114, 800
AR (A)
A 2.00 51, 200. 00 102, 400
e (B)
A 4.00 40, 600. 00 162, 400
AR (C)
A 8.00 32, 800. 00 262, 400
g
A 8.00 29, 000. 00 232,000
EXERARE 2E0%
% 1.00 874, 000. 00 8, 740
& Hi 1E%HeH - 1.00K 882, 740. 00 882, 740
&5 M
2% AFEARRROER 1LY
2 b g - BIRTE BT H = B O ® % W = " =
AR (C)
A 0.50 32, 800. 00 16, 400
& Hi 1E%HeH - 1.00K 16, 400. 00 16, 400
=)
£ REEEMR 1LY
2 b g - BIRTE BT H = B Ol ® W = " =
ZEEEMm FRP D 180PS#Y
B 3.60 141, 881.00 510, 771/6.00H / 8H
MR 2E0%
% 0.50 510, 771. 00 2,553
& B 1E%Heh - 1.00K 513, 324. 00 513, 324
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RS- BT/ Svr— SHAEEFFIR P ERRAE

&5 .43
£ EBRRRE (STLEE FMRAHERRAE) 1Y
£ b I - BIKTE BAL H = B O ® % M = & &
EBERRRE
= 1.00 100, 000. 00 100, 000
& Hi EZBER - 1. 00 100, 000. 00 100, 000
ES .M
£ EBRREE (SIBEEMERERVELD) 1Y
£ Eu I - BIKTE B4L H = B O ® % M = & &
EBERRRE
= 1.00 100, 000. 00 100, 000
& Hi EZBER - 1.00 100, 000. 00 100, 000
&S .45
£ Eu I - BIKTE B4L H = B O ® % M = ik &
KBS HHRE
= 1.00 15, 581, 388. 00 15, 581, 388
EBE D HRRE
= 1.00 606, 600. 00 606, 600
BEMTSU0 FonHE
= 1.00 612, 000. 00 612, 000
BTS20 FUnE
= 1.00 1,152, 000. 00 1,152,000
B0 - IPASE
= 1.00 712, 800. 00 712, 800
EEEMITE
= 1.00 648, 000. 00 648, 000
HEEDIHE
= 1.00 1, 833, 600. 00 1,833, 600
NEEINE
= 1.00 360, 000. 00 360, 000
FREMIINE
= 1.00 1, 540, 000. 00 1, 540, 000
FREESTHRE
= 1.00 2,930, 840. 00 2,930, 840
& Hi 1EZBERN - 1.00 25,977, 228.00 25,977, 228

20




